3-3.3.3=3"=81
3* is an Exponential Expression , 4 is the exponent (sometimes called the power). 3 is the base of the exponent.
The exponent counts the number of factors of the base are used in repeated multiplication.
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For the exponential expression (—é] , (—%j Is the base of the exponent and 3 is the exponent.

There is a difference between —52 and (-5)>. -5°=—(5°)=—(5-5) & (-5)%>=(-5)(-5)=25
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Order of Operations

Simplify expressions in the following order:
- If grouping symbols such as parentheses are present, simplify expressions within those first, starting
with the inner most grouping.
If fraction bars are present, simplify the numerator and the denominator separately.
Evaluate exponents
Perform multiplication and division in order from the left to the right.
Perform addition and subtraction in order from left to right.
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Algebraic Expressions:

5xmeans 5-x (Never write x5) 4(2x—1) means 4-(2x-1) 4m®n means 4-m°-n



Order of Operations

Simplify expressions in the following order:

- If grouping symbols such as parentheses are present, simplify expressions within those first, starting
with the inner most grouping.
If horizontal fraction lines are present, simplify the numerator and the denominator separately.
Evaluate exponents
Perform multiplication and division in order from the left to the right.
Perform addition and subtraction in order from left to right.
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